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BOTANY
(General)

Paper Code : IV - A & B

(New Syllabus)

Full Marks : 50 Time : Two Hours

Paper Code : IV - A

(Marks : 16)

Choose the correct answer.

Each question carries 1 Mark.

1. Which is the renewable exhaustible natural energy resource?

(A) Coal

(B) Petroleum

(C) Kerosene

(D) Biomass

1. ˜î#„þîû’öìëy†Ä ÇþëûŸ#œ ²Ìy„,þ!“þ„þ Ÿ!_« ¢Á™” ö„þy˜!Ýþ Ú

(A) „þëûœy

(B) öþ™öìÝþÆy!œëûy›

(C) ö„þöìîûy!¢˜

(D) îyöìëûy›y¢

2. Plants growing under direct sunlight are known as —

(A) Heliophytes

(B) Sciophytes

(C) Psammophytes

(D) Xerophytes
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2. ¢îûy¢!îû ¢)ëÅyöìœyöì„þîû x•#öì̃  öîöìvþü çàþy vþz!q”öì„þ îœy £ëû éôôôé

(A) ö£!œçšþy£zÝþ¢

(B) ¢y£zçšþy£zÝþ¢

(C) ¢yöì›yšþy£zÝþ¢

(D) ö‹öìîûyšþy£zÝþ¢

3. An orchid living on a tree exhibits —

(A) Predation

(B) Mutualism

(C) Commensalism

(D) Parasitism

3. ~„þ!Ýþ †yöìŠé î¢îy¢„þyîû# ~„þ!Ýþ x!„Åþvþ ²Ì”ŸÅ̃  „þöìîû éôôôé

(A) !Ÿ„þyîû

(B) ¢y£‰þëÅ“þy

(C) „þ›˜¢y!œ‹›

(D) þ™îû‹#î#c

4. Which of the following requires maximum energy?

(A) Secondary consumer

(B) Decomposer

(C) Primary consumer

(D) Primary producer

4. ˜#öì‰þîû ö„þy˜!Ýþîû ‹˜Ä ¢öìîÅyF‰þ Ÿ!_« ²Ìöìëûy‹˜ éÚé

(A) ö†ï’…y”„þ

(B) !îöìëûy‹„þ

(C) ²Ìyí!›„þ …y”„þ

(D) ²Ìyí!›„þ vþzêþ™y”„þ

5. A tissue that does not contain lignin —

(A) Sclerenchyma

(B) Parenchyma

(C) Collenchyma

(D) Chlorenchyma
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5. ~„þ!Ýþ „þœy ëyöì“þ !œ†!˜˜ íyöì„þ ˜y éôôôé

(A) ößþñöìîû̃ „þy£z›y

(B) þ™Äyöìîû̃ „þy£z›y

(C) ö„þyöìœ˜„þy£z›y

(D) ö„Ïþyöìîû̃ „þy£z›y

6. Which are the external protective tissues of the plant?

(A) Cortex and epidermis

(B) Cork and cortex

(C) Pericycle and cortex

(D) Epidermis and cork

6. vþz!qöì”îû îy!£Ä„þ ²Ì!“þîûÇþy›)œ„þ „þœy ö„þy˜!Ýþ éôôôé

(A) „þöìÝÅþ: ~î‚ ~!þ™vþy!›Å¢

(B) „þ„Åþ ~î‚ „þöìÝÅþ:

(C) öþ™!îû¢y£zöì„þœ ~î‚ „þöìÝÅþ:

(D) ~!þ™vþy!›Å¢ ~î‚ „þ„Åþ

7. Bordered pits are found in —

(A) Vessel

(B) Sieve cells

(C) Sieve tube

(D) Companion cells

7. ¢#›y˜yë%_« „)þþ™ þ™yçëûy ëyëû éôôôé

(A) îy!£„þy

(B) !¢¦þ ö„þy¡ì

(C) !¢¦þ ˜œ

(D) ¢D# ö„þy¡ì
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8. The age of the tree can be determined by

(A) Measuring its diameter

(B) Counting the number of annual rings

(C) Counting the number of leaves

(D) Finding out the number of branches

8. †yöìŠéîû îëû¢ !˜’Åëû „þîûy ëyëû éôôôé

(A) †yöìŠéîû îÄy¢ þ™!îû›yþ™ „þöìîû

(B) î¡ìÅîœöìëûîû ¢‚…Äy †’˜y „þöìîû

(C) þ™y“þyîû ¢‚…Äy †’˜y „þöìîû

(D) Ÿy…yîû ¢‚…Äy †’˜y „þöìîû

9. Four long and two short stamens are found in

(A) Asteraceae

(B) Brassicaceae

(C) Liliaceae

(D) Solanaceae

9. ‰þyîû!Ýþ œÁºy ~î‚ ”%!Ýþ öŠéyÝþ þ™%‚öì„þŸîû þ™yçëûy ëyëû éôôôé

(A) Asteraceae

(B) Brassicaceae

(C) Liliaceae

(D) Solanaceae

10. Placenta and pericarp are edible portions in —

(A) Potato

(B) Banana

(C) Tomato

(D) Apple

10. ²Õyöì¢rÝþy ~î‚ öþ™!îû„þyþ™Å ö¦þy‹Ä x‚Ÿ éôôôé

(A) xyœ%

(B) „þœy

(C) Ýþöì›öìÝþy

(D) xyöìþ™œ
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11. Geocarpic fruits are formed in —

(A) Onion

(B) Carrot

(C) Groundnut

(D) Watermelon

11. Geocarpic šþœ †!àþ“þ £ëû éôôôé

(A) öþ™¤ëûy‹

(B) †y‹îû

(C) !‰þ˜yîy”y›

(D) “þîû›%‹

12. Which of the following are the accessory parts of a flower —

(A) Androecium and gynoecium

(B) Sepals and carpels

(C) Sepals and petals

(D) Sepals and gynoecium

12. ˜#öì‰þîû ö„þy˜!Ýþ š%þöìœîû ¢y£yëÄ„þyîû# x‚Ÿ éôôôé

(A) þ™%‚hßþî„þ ~î‚ ßþf#hßþî„þ

(B) î,“þÄ‚Ÿ ~î‚ †¦Åþþ™e

(C) î,“þÄ‚Ÿ ~î‚ ”œy‚Ÿ

(D) î,“þÄ‚Ÿ ~î‚ ßþf#hßþî„þ

13. This system of classification was used by Linnaeus —

(A) Phylogenetic system

(B) Natural system

(C) Artificial system

(D) None of the above

13. !œ!˜ëûy¢ öë ö×’#!î˜Äy¢ þ™kþ!“þ îÄî£yîû „þöìîû!Šéöìœ é̃ôôôé

(A) ‹y!“þ‹!˜†“þ ö×’#!î˜Äy¢

(B) ²Ì„,þ!“þ„þ ö×’#!î˜Äy¢

(C) „,þ!e› ö×’#!î˜Äy¢

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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14. Pick the right sequence of taxonomic categories —

(A) Division-class-family-tribe-order-genus-species

(B) Division-class-family-order-tribe-genus-species

(C) Division-class-order-family-tribe-genus-species

(D) Division-order-class-family-genus-tribe-species

14. ö×’#!î˜Äy¢ !î¦þyöì†îû ¢!àþ„þ e«› ‰þëû̃  „þöìîûy éôôôé

(A) þ!î¦þy†éôéö×’#éôéö†yeéôévþzþ™‹y!“þéôéî†Åéô†’éôé²Ì‹y!“þ

(B) þ!î¦þy†éôéö×’#éôéö†yeéôéî†Åéôévþzþ™‹y!“þéô†’éôé²Ì‹y!“þ

(C) þ!î¦þy†éôéö×’#éôéî†Åéôö†yeéôévþzþ™‹y!“þééô†’éôé²Ì‹y!“þ

(D) þ!î¦þy†éôéî†Åéôéö×’#éôéö†yeéô†’éôéévþzþ™‹y!“þéôéé²Ì‹y!“þ

15. Sunflower belongs to the family —

(A) Solanaceae

(B) Asteraceae

(C) Brassicaceae

(D) Lamiaceae

15. ¢)ëÅ›%…# öë ö†yöìeîû xhsþ†Å“þ éôôôé

(A) Solanaceae

(B) Asteraceae

(C) Brassicaceae

(D) Lamiaceae

16. Scientific name of watermelon —

(A) Citrullus lanatus

(B) Solanum melongena

(C) Pterocarpus santalinus

(D) Ocimum sanctum

16. “þîû›%öì‹îû ÷îKþy!˜„þ ˜y›þ éôôôé

(A) Citrullus lanatus

(B) Solanum melongena

(C) Pterocarpus santalinus

(D) Ocimum sanctum

——————



P.T.O.

(  7  )

Paper Code : IV - B

(Marks : 34)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

1. Answer any one of the following questions : 9×1= 9

(i) Define energy flow. What is an ecological pyramid ? Explain different types of
ecological pyramids with suitable diagrams. 2+2+5=9

(ii) What is stele ? Explain root-stem transition in plants with suitable diagram.
2+4+3=9

2. Answer any two of the following questions : 4×2=8

(i) Discuss the biological nitrogen fixation with a schematic diagram. 4

(ii) Mention different types of biotic and abiotic components of an ecosystem. 4

(iii) What is secondary growth ? Briefly discuss extrastelar secondary growth. 2+2

(iv) With suitable diagram describe the components of xylem tissue. 4

Group - B

3. Answer any one of the following questions : 9×1=9

(i) With suitable diagrams describe the different types of ovule with examples. 4+5

(ii) Write down the general characteristics of the family Brassicaceae and mention its
economic importance. 6+3

4. Answer any two of the following questions : 4×2=8

(i) What is herbarium? State the importance of herbarium. 2+2

(ii) Define placentation. Mention their types. 2+2

(iii) Write a short note on binomial nomenclature.

(iv) Mention the economic importance of the family Poaceae.

îDy˜%îy”

!î¦þy† éôé „þ

1. ˜#öì‰þîû öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) Ÿ!_« ²Ìîyöì£îû ¢‚Kþy ”yçÐ …y”Ä !þ™îûy!›vþ !„þ Ú vþzþ™ë%_« !‰þe¢£ !î!¦þ§¬ •îûöì̃ îû …y”Ä !þ™îûy!›vþ îÄy…Äy
„þöìîûyÐ 2+2+5=9
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(ii) !ÞÝþ!œ !„þ Ú vþzþ™ë%_« !‰þe¢£ vþz!qöì”îû ›)œéôé„þyöì[þîû îû*þ™yhsþîû îÄy…Äy „þöìîûyÐ 2+4+3=9

2Ð ˜#öì‰þîû öë ö„þyöì̃ y ”%ó!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(i) ~„þ!Ýþ vþzþ™ë%_« !‰þöìeîû ¢y£yöìëÄ ÷‹!î„þ ˜y£zöìÝþÆyöì‹˜ xyîkþ„þîû’ xyöìœy‰þ˜y „þöìîûyÐ 4

(ii) ~„þ!Ýþ îylßþ“þöìsþfîû !î!¦þ§¬ •îûöì̃ îû ÷‹î ~î‚ x÷ì‹î vþzþ™y”y˜ vþzöìÍÔ… „þöìîûyÐ 4

(iii) ö†ï’ î,!kþ !„þ Ú î!£ƒ!ÞÝþœ#ëû xMþéöìœîû ö†ï’ î,!kþ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þöìîûyÐ 2+2

(iv) vþzþ™ë%_« !‰þöìeîû ¢y£yöìëÄ ‹y£zöìœ› „þœyîû vþzþ™y”y˜=!œ î’Å̃ y „þöìîûyÐ 4

!î¦þy† éôé …

3Ð ˜#öì‰þîû öë ö„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) vþzþ™ë%_« !‰þe¢£ !î!¦þ§¬ •îûöì̃ îû !vþÁºy’% vþz”y£îû’¢£ î’Å̃ y „þöìîûyÐ 4+5=9

(ii) Brassicaceae þ™!îûîyöìîûîû ¢y•yîû’ ÷î!ŸÜTÄ öœöì…y ~î‚ ~îû xíÅ÷ì̃ !“þ„þ =îû&c vþzöìÍÔ… „þöìîûyÐ 6+3=9

4Ð ˜#öì‰þîû öë ö„þyöì̃ y ”%ó!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

(i) £yöìîÅ!îûëûy› !„þ Ú £yöìîÅ!îûëûyöì›îû =îû&c î’Å̃ y „þöìîûyÐ 2+2=4

(ii) x›îûy!î˜Äy¢ „þyöì„þ îöìœ Ú “þyöì”îû !î!¦þ§¬ ²Ì„þyîû vþzöìÍÔ… „þöìîûyÐ 2+2=4

(iii) !mþ™” ˜y›„þîûöì’îû vþzþ™îû ~„þ!Ýþ ¢‚!Çþ® Ýþ#„þy öœöì…yÐ 4

(iv) Poaceae þ™!îûîyöìîûîû xíÅ÷ì̃ !“þ„þ =îû&c vþzöìÍÔ… „þöìîûyÐ 4

————————


